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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championship tournament. Shawn Pickrell, Jason Mueller, Marie Suter, Marian Suter, Adam Fine and Dan Goff are the authors of these questions, which were further reviewed by Pickrell, Fine, Mueller, Suter, Goff, Raj Dhuwalia, Dave Reinstein, Alex Drake, Billy Beyer and Lee Henry. 

These questions may not be released AT ANY TIME to entities outside the tournament, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. 
First period: 15 tossups, 10 points each

1.
 His first marriage was to Zachary Taylor’s 16-year-old daughter, Sarah, who died of malaria after three months. His second marriage was to the wealthy Varina (vah-RYE-nuh) Howell. During the Mexican War, he commanded the Mississippi Rifles, becoming appointed Senator from that state. Despite his opposition to secession, who was elected in November 1861 as President of the Confederate States of America? 

ANSWER: Jefferson Davis

2.
In this American novel, set in Eatonsville, Florida, in the early 1900s, you will find the characters Grandma, Phoeby, Logan Killicks, Joe Starks, Tea Cake Woods, and Janie Woods-Starks, the novel’s beautiful heroine. What is this novel by Zora Neale Hurston?

ANSWER: Their Eyes Were Watching God
3.
They believed that each murder they committed honored their goddess Kali. Traveling around India in gangs of around 50 people, these professional assassins used yellow scarves to strangle their victims. The British ultimately suppressed what medieval Indian cult that has lent its name to a modern term meaning “gangster” or “hardcore”, especially in relation to the hip-hop culture? 

ANSWER: Thuggees or Thugs
4.
THIS IS A COMPUTATION QUESTION. What is the remainder when 920 is divided by 35?

ANSWER:  10
5.
Aluminum oxide and zinc oxide are examples of what type of oxide that exhibits both acidic and basic properties?

ANSWER:  amphoteric oxide

6.
He took his adopted name from his boast that he was superior to a renowned 1st-century Roman medical writer. What 15th-century Swiss physician channeled the arts of alchemy toward the preparation of medical remedies? 

ANSWER: Philippus Aureolus or Paracelsus
7.
This play was considered quite unusual at the time for its use of a “stage manager” as the narrator and a bare stage. What is this play, set in Grovers Corners, New Hampshire, and written by Thornton Wilder?

ANSWER: Our Town
8.
Alfonso, the Christian King of Leon (lay-ohn) and Castille (kas-teel), sends his knight to collect the annual tribute owed to him by the Moorish King of Seville. The story of the knight’s expedition is the subject of what heroic 12th-century Spanish epic poem?

ANSWER: El Cid
9.
In this film, Cedric Brown is a widower with seven children, including Simon, Tora, Eric, and Lily, who are ill-mannered.  A woman with warts on her face, a unibrow, and a bucktooth comes to the rescue, and each time she teaches the children a lesson, one of her facial problems disappears.  Adapted from the Christianna Brand story Nurse Matilda, what is this recent film starring Colin Firth as Cedric and Emma Thompson as the title character?

ANSWER:  Nanny McPhee
10.
He famously said, “You can kill ten men for every one of I kill of yours. But even at those odds, you will lose and I will win.” In 1946, he forced Emperor Bao Dai to abdicate, leading to 29 years of civil war in which both France and the United States attempted unsuccessfully to intervene. The former capital of South Vietnam is now named for what man who ruled North Vietnam between 1946 and 1969?

ANSWER: Ho Chi Minh
11.
This two-word phrase entered English from its use in a Catholic prayer called the Confiteor (kon-fih-TAY-or). The word maxima (mak-SEE-mah) may be put in between the two words of this phrase to indicate a high degree of guilt or blame. What Latin phrase that is used in everyday speech as an admission of guilt means “my fault” in English?

ANSWER: mea culpa (may-uh kool-puh)

12.
They compose five genera (jeh-neh-rah) in the family Mepitidae (meh-pih-tee-DYE).  Name this mammal that is usually black and white striped and known for its smell.

ANSWER:  skunk
13.
An o-to-rhi-no-la-ryn-col-o-gist specializes in what three upper body parts?

ANSWER:  ear, nose and throat
14.
When first released in 2001, its hard drive was 5 gigabytes; today they have up to 60 gigabytes. The second version, released in 2002, also worked with Windows computers. They contain games such as "Brick", "Parachute" and "Solitaire" and come with headphones known as "earbuds." The “shuffle” and “nano” are small versions of what devices made by Apple Computer whose primary function is to store and play music?

ANSWER: iPod
15.
By the end of the first century AD, their judicial function had largely ceased, replaced by Roman law. They disappeared entirely with the advent of Christianity. Twenty years of secret training were required to become one, and they were exempt from taxes and military service. The Romans alleged that human sacrifice was practiced by what priestly class of Celtic (kel-tik) societies whose sacred plant was mistletoe?

ANSWER: Druids

Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
Dr. Albert Hofmann, who celebrated his 100th birthday on January 11, was the first man to synthesize and identify the psychedelic effects of what drug popularized by Ken Kesey, Pink Floyd's Syd Barrett and Timothy Leary?

ANSWER: LSD
1B.
This type of poetry expresses the shortness of life and the need to enjoy the present. What is this two-word Latin term that translates literally as “seize the day”?

ANSWER: carpe diem poetry

2A.
What 1962 Supreme Court case made it unconstitutional for state or local officials to require prayer at public schools?

ANSWER: Engle v. Vitale

2B.
In late 1995, what song, a collaboration between Boyz II Men and Mariah Carey, began a record run of 16 consecutive weeks at the top of the Billboard Hot 100 Singles chart?

ANSWER:  "One Sweet Day"

3A.
THIS IS A COMPUTATION QUESTION. What is 12 factorial divided by 9 factorial?

ANSWER:  1320
3B.
What term is given to a metal alloy that contains mercury?

ANSWER: amalgam
4A.
In terms of vaccines, what does DPT stand for?

ANSWER: diphtheria, pertussis (accept whooping cough) and tetanus
4B.
THIS IS A COMPUTATION QUESTION. In simplest terms, what is 1/12 plus 2/9?

ANSWER:  11/36
5A.
In what T.S. Eliot poem does the narrator say he has “measured out his life in coffee spoons”?

ANSWER: “The Love Song of J. Alfred Prufrock”

5B.
What five-person committee held power in France between November 2, 1795, and November 10, 1799, losing power in the coup of 18 Brumaire to Napoleon? 

ANSWER: French Executive Directory or Directoire exécutif (dee-rehk-TWAHR ek-SAY-koo-tee)

6A.
While an epicenter is the location on the Earth’s surface where an earthquake is centered, what is the name of the spot under the Earth that is the “true” location of an earthquake’s origin?

ANSWER: earthquake focus or hypocenter

6B.
Diptych (dip-tik), triptych (trip-tik), and polyptych (paw-lip-tik) refer to the number of painted panels within the frame of what form of art used for religious devotion, examples of which include Isenheim (EYE-sen-hime), Portinari, and Ghent?

ANSWER:  altarpiece
7A.
THIS IS A COMPUTATION QUESTION. What is the hypotenuse of a right triangle with legs of length 30 feet and 72 feet?

ANSWER:  78 feet
7B.
What powerful 12-member committee in the U.S. House of Representatives determines the length of time a bill may be debated, as well as limits on amendments to a bill?

ANSWER: Rules Committee or Committee on Rules
8A.
Spelled one way, it means to look furtively from a place of concealment; spelled another, it means to achieve a maximum of development or intensity. What is this word?

ANSWER: peek or peak
8B.
THIS IS A COMPUTATION QUESTION. What is the product of the complex numbers 14 plus 3i and 5 minus 2i?

ANSWER:  76 minus 13i
9A.
In Norse mythology, Jotunheim (yoh-TOON-hime) is the home of which race of beings, including Thiazi (thee-ah-zee), Mimir (mih-meer), Utgard-Loki (oot-gard loh-kee), and Thrym (thrim)?

ANSWER:  giants (or frost giants)

9B.
What ecological term defines the amount of a life form that a certain habitat area can indefinitely sustain – below which a population will increase, and above which a population will decrease? 

ANSWER: carrying capacity

10A.
The (in)famous “prison experiment” was conducted in 1971 by researchers, led by Philip Zimbardo, from what university?

ANSWER: Stanford prison experiment

10B.
In the sentence “He never learned how to change the oil in his car,” what is the function of the noun clause “how to change oil in his car”?

ANSWER: direct object
Third period, 15 toss-ups, 10 points each
1.
This book’s main character is a bizarre and solitary young man who, in a manuscript found by his aunt and landlady, refers to himself as two beings always at odds: one, a learned, cultured, mild-mannered gentleman; the other, a fragmented animal, impatient with society’s restraints. Harry Haller is the main chracter in what book by Herman Hesse that shares a name with the band that performed “Born to be Wild”?

ANSWER: Steppenwolf
2.
It started on September 9, ended on October 4 and involved stays in the Cave of Thawr (thoh-ahr) and the village of Quba’ (KOO-bah) en route to the ultimate destination, a city then called Yathrib. The year in which it occurred is the founding year of the Islamic calendar. What is this migration Muhammad made between Mecca and Medina in 622 AD?

ANSWER: Hejira or Hejra

3.
One writer theorizes that the name of this warm-weather period is of Asian – not North American – origin. The most common explanation is that this was when Native Americans would harvest their crops. Old Wives’ is the name given in the UK to what period of warm weather in late October and early November? 

ANSWER: Indian summer

4.
It was originally named the South River to mark the southern border of New Netherlands. Its best-known tributary is probably the Schuykill (SKOO-kill) River. What river, which forms a waterfall near Trenton and flows by Philadelphia, forms the border between New Jersey and Pennsylvania?

ANSWER: Delaware River

5.
The founders of American Express also founded this company; while American Express covered the eastern US, this company would cover the western US. When its express business was nationalized during World War I, it then shifted to commercial banking. What company gained fame during the California Gold Rush for its stagecoaches?  

ANSWER: Wells Fargo Bank 
6.
It opens with Orthodox-like chanting. “La Marseillaise” (lah mar-sell-AYZ), the French national anthem follows, followed by a folk dance. It finishes with “God Save the Tsar,” the former Russian national anthem. Before “God Save the Tsar,” outdoor performances will fire live cannon, which are replaced by timpani for indoor performances. Peter Tchaikovsky wrote what work to celebrate Russian victory over the French in the titular year?

ANSWER: 1812 Overture
7.
 Financial titans such as Michael Milken used them to engineer the leveraged buyouts of the 1980s. After the LBO crash of the late 1980s, they fell out of favor, but by 2005, they have returned to favor as lenders search for the higher yields they offer. A Standard & Poor’s credit rating of BB or lower is the qualifier for bonds to reach what status to which both Ford and General Motors had theirs downgraded in 2005? 

ANSWER: junk bonds (or high-yield bonds before “higher yields” is said)

8.
Though the scene of this 1840 painting takes place on water, the entire canvas appears as if it is on fire, as it is dominated by oranges and reds.  In the foreground, sea monsters and the ocean itself devour humans cast aside so that the owners of the vessel can collect insurance money.  Identify this Joseph Turner painting that is a condemnation of a practice outlawed in America by the Emancipation Proclamation.

ANSWER:  The Slave Ship (or Slavers Overthrowing the Dead and Dying -- Typhoon Coming On)

9.
Sheep show little initiative or competence, so if they get lost or escape, and thus enter this condition, they will quickly be eaten. A large population of camels in this condition lives in the Australian outback. Cats in this condition are urban pests. Children in this condition are isolated from human contact and are unable to speak. What condition occurs when domesticated animals escape and become wild again? 

ANSWER: feral
10.
Spelled one way it means a small, light racing boat for one to four rowers or one or a pair of short-handled oars used by a single rower. Spelled another, it means the bony or cartilaginous framework of the cranium. What is the word?

ANSWER:  scull or skull
11.
They are first mentioned in late Roman times and seem to have ruled what is today all of northern Scotland; Irish sources of the time said they had seven ancient kingdoms. Kenneth mac Alpin was the first king of Scots and what associated tribe, whose name comes from a Latin word meaning “the painted ones”?

ANSWER: Picts

12.
When Suyuan (su-ywan) Woo first came to America, she brought with her a swan that was said to have once been a duck. At that time, she promised herself that she would have a daughter who would grow up just like herself and the swan -- stretching and transforming into “someone unexpected.” After Suyuan’s death, her daughter was invited by four of her mother’s friends to take her mother’s place at the East corner of the mahjong table in what work of fiction written by Amy Tan? 

ANSWER: The Joy Luck Club
13.
This man recently disclosed that his only remaining son's death last year was due to AIDS, a move critical of South African president Thabo Mbeki [TA-bo EEM-beck-ee], who has denied a link between HIV and AIDS. After spending 18 years on Robben Island and 27 years in prison total, what man was released in 1990 and became the first democratically elected president of South Africa?

ANSWER: Nelson Mandela
14.
THIS IS A COMPUTATION QUESTION. What is the distance from the point (3, 1) to (minus 2, 13)?

ANSWER:  13
15.
The omega minus particle is made up of three of them.  Name this quark flavor that is a second-generation particle with a charge of minus one-third, the opposite of the “charm.”

ANSWER:  strange quark

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.
This toy spawned a cartoon series that ran for twelve episodes in 1984.  Over 300 million of them have been sold worldwide, 100 million of those in a two-year period from 1980 to 1982.  Fifty-four square stickers can be found on what three-dimensional toy, invented by a Hungarian sculptor, where the object is to get the same color to match up on each of the six sides?
ANSWER:  Rubik's Cube
2.
THIS IS A COMPUTATION QUESTION. What is the cube root of minus 1728?

ANSWER:  minus 12
3.
Pisum (pih-sum) sativum (sah-tee-vum) is the scientific name of what round legume that is green and grows in pods?

ANSWER:  peas

4.
It contains the volcano Mount Aso (ah-soh) and has seven prefectures, including Fukuoka (foo-koo-oh-kah) and Oita (oh-ee-yah). The city of Hiroshima is on what southernmost of the four Japanese main islands?

ANSWER: Kyushu (kyoo-shoo)

5.
This English Poet Laureate published the collections The Hawk in the Rain and Moortown.  Name the man who is perhaps best remembered as the husband of Sylvia Plath.



ANSWER: Ted Hughes
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

